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1 BRHERUVLE (RmB%228)
X % L] 4 B = & i)
AL oo #iA b FiA L
# Al (88) (%) (%) (kg) (%) (M) (%)
& 1K 1, 345 126 88 651, 310.0 127 1, 805, 822, 078 131
MFE | %A
B 1, 345 125 88 651, 310.0 126 1, 805, 822, 078 130
£ & 1, 201 111 103 601, 519. 2 113 996, 335, 823 117
" RHESE| W® A
o H 1, 201 111 103 601, 519. 2 113 996, 335, 823 117
& 1K 52 111 88 21, 056.6 102 19, 306, 091 99
24 | % A
B 52 111 88 21, 056.6 102 19, 306, 091 99
£ &
A
NEF| A
i i
& 1K 2,598 118 94 1,273, 885. 8 120 2,821, 463, 992 125
& | B A
it 2,598 118 94 1,273, 885. 8 119 2,821, 463, 992 125
oW (EHE - @A)
a it 2,598 118 94 1,273, 885. 8 119 2,821, 463, 992 125
X £ E B § 17,617 §H 8,471, 980. 3 kg 18, 031, 598, 425 M
" & i 5,592 112 104 474, 453.0 113 206, 816, 819 106
W A 131 168 92 9,385. 1 164 2, 865, 868 157
& a H 5,723 112 103 483, 838. 1 113 209, 682, 687 106
* oW (EHE - @A)
a & 5,723 112 103 483, 838. 1 113 209, 682, 687 106
X £ E B § 41,909 A 3, 560, 200. 5 kg 1, 659,478,105 M
F F
s H 8,321 114 100 1,757,723.9 118 3,031, 146, 679 123
X £ E B R | 59, 529 HA 12,032, 560. 0 kg 19, 691, 185, 849 M
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(Bfy BE% . BA. ffi#& - M. kg, L %)
2 2 1 & &t
X5
88 4 85 180 80 11 356
= & A 3,950 3,028 2,771 2,436 3,950
S & 2,704 2,193 1,534 1,417 1,417
MEFEH 3,039 2,758 2,481 2,032 2,747
88 4 2 21 20 17 60
» & = & 5 2,857 2,758 2,528 2,376 2,857
S & 2,533 2,400 2,255 797 797
£ INEF 1y 2,682 2,578 2,395 1,378 2,238
88 4 1 1
= & c 1,395 1,395
ES & 1,395 1,395
MEFEH 1,395 1,395
88 4 311 427 100 10 848
= & A 7,568 3,046 2,772 2,513 7,568
ES & 2,701 649 2,289 2,263 649
INEF 1y 3,083 2,742 2,522 2,396 2,844
* 88 4 4 41 27 7 79
5 & = e 5 2,951 2,840 2,589 2,268 2,951
=7 & 2,807 2,161 1,522 1,503 1,503
MEFEH 2,875 2,628 2,354 1,829 2,483
88 4 1 1
=) [ c 861 861
=7 & 861 861
MEFEY 861 861
88 4 1 19 14 2 36
= e A 2,328 2,270 1,867 1,548 2,328
2 ES fi& 2,328 1,832 1,605 1,260 1,260
MEFY 2,328 2,035 1,754 1,403 1,899
L] # 34 235 120 389
# | o+ = & 5 2,387 2,052 1,771 2,387
ES fi& 1,458 976 955 955
MEFY 1,944 1,704 1,422 1,640
88 3 3 69 83 155
* = & c 1,919 1,918 1,656 1,919
ES fi& 1,515 1,246 649 649
MEFY 1,750 1,567 1,287 1,422




3 5 4 2 & &
X5
L] % 1 19 14 2 36
=] e A 2,387 2,954 2,036 1,728 2,954
% = e 2,387 1,844 986 1,192 986
MEFEY 2,387 2,129 1,809 1,472 1,980
I # 2 73 236 105 416
| = %?T%‘ & 5 2,390 2,441 2,096 1,739 2,441
= e 2,286 1,676 1,297 988 988
MEFEY 2,340 2,026 1,757 1,458 1,735
I # 11 80 77 1 169
* = e c 2,023 2,199 1,707 865 2,199
= e 1,620 1,300 1,082 865 865
MEFEY 1,927 1,702 1,413 865 1,588
L] 3 1 1 2
= & 5 1,155 987 1,155
ES & 1,155 987 987
- MEFEY 1,155 987 1,073
GE] e 11 14 25
) = e o 1,017 775 1,017
e e 741 325 325
MmEFEY 919 491 731
L] 3 7 7
= e 5 1,134 1,134
& EY & 976 976
- imi:w] 1,075 1,075
L] 3 18 18
= e c 1,173 1,173
ESS [ 823 823
MEFEY 1,064 1,064
L] 3
z =) &
ES &
nE 1L
= {[E]
fe %z {8
MMETH
X ABIE X ARIE ARMEF B A AIERA L
f 4 7,568 649 2,773 103 103
X ¥ A 2,954 649 1,656 103 96
2l 4 1,173 325 917 97 106
s B &
B 7,568 325 2,215 105 99




3 BB AR B ERRER O R UNENST A4S H28. 12

(BAfs BE%Y : BB. {fi4% : A.7ke. Ltk : %)
e
B + i3 i %45 &t
R4
BB 25 1,824 1,678 1,211 985 5,723
5 @ 1,081 1,083 1,035 1,011 685 1,083
% {8 464 216 216 216 55 55
mE T H 551 489 467 451 305 433
A K 100 94 93 94 98 94
HERA L 102 89 86 90 95 90
4 R R IR EE
(5 )
. P i P
B0 wme | me | ks | fe (@4 B | et | waee | ER | 2k
1 = 96 181 8 0 285 11.0% T 985 17.2%
2 5 32 236 0 0 268 10.3% [if] (L1 809 14.1%
3 &E 255 2 0 0 257 9.9% = 596 10.4%
4 BRE 230 0 0 0 230 8.9% D 498 8.7%
5 i 1 88 112 0 0 200 7.7% JSEL 468 8.2%
6 HER 144 47 0 0 191 7.3% I 396 6.9%
7 EE 14 130 0 0 144 5.5% KB 392 6.9%
8 ZiE 0 122 3 0 125 4.8%|  FomkiL 351 6.1%
9 dtiEE 47 46 13 0 106 4.1% =R 328 5.7%
10 EH 90 0 5 0 95 3.7% T 262 4.6%
ZOHtaEt 18 349 325 23 0 697 26.8% 5 638 11.2%
& i 1,345 1,201 52 0| 2,598 100.0%| & &t 5,723 100.0%
5 CEHEHM
&1 £ B % | W A K& | MERAL |k £ E B
s 2,378 B& 102.8% 92 % 17,583 88
B 5,326 B& 103.9% 104 % 41,008 58
Zot 0@ — — 3 5




